o aa
www.atp-czesci.pl raeer
Czesci do ekspresow

o ol

ISOMAC

This catalogue is automatically generated.
Therefore, the sequence of the items might
not be always shown at best.

Updates will be issued in case of additions
and/or amendments.

Suitable universal spare parts may not be included

Rel. 2017-08181213




%@& ISOMAC

BREW GROUP

MONDIALE-MILLENNIUM-TEA-ZAFFIRO

Positions without LF code no.: upon request




ISOMAC

Position LF code no. Description
1 1439001 CAP g 16 mm FOR BREW GROUP
2 1186314 PTFE FLAT GASKET @ 22x17x2 mm
3 1160517 WATER FILTER @ 8.5x22 mm
4 1027116 CHROMIUM-PLATED UPPER SLEEVE
5 1186591 O-RING 0128 VITON
6 1186328 PTFE FLAT GASKET @ 35x30x2 mm
7 1250536 SPRING @ 13x42 mm
8 1523451 COMPLETE SPOUT VALVE
10 1184009 STAINLESS STEEL M8x25 mm STUD
11 1186725 FILTER HOLDER GASKET @ 73x57x8.5 mm
12 1081116 SHOWER SCREEN g 60 mm
13 1523452 COMPLETE DRAIN VALVE
14 1186592 SPRING GUIDE BUSHING
15 1192181 CHROME-PLATED DRAIN SLEEVE
16 1186117 PTFE FLAT GASKET @ 26x21x2 mm
17 1523453 COMPLETE DRAIN VALVE
18 1250515 SPRING @ 14x33 mm
19 1349536 DRAIN JET SWIRL
20 1349537 DRAIN CHROMIUM-PLATED FITTING
21 1324048 CAM ROD FOR COFFEE GROUP
22 1349022 CAMS CHROMIUM-PLATED FITTING
23 1186312 EPDM FLAT GASKET @ 15.5x7.5x4 mm
24 1186313 CAM GUIDE BUSHING
25 1250516 SPRING @ 15x28 mm
26 1439533 STUFFING GLAND CHROME-PLATED FITTING
27 1191022 CHROMIUM-PLATED CAM
29 1225002 CHROMIUM-PLATED CAP M6
30 1241401 KNOB M8x1
31 1225004 MICRO CONTROL SPINDLE
33 1439011 CHROMIUM-PLATED SIDE CAP
34 1120102 3-WAY SOLENOID VALVE LUCIFER 115V 60Hz
34 1120330 3-WAY SOLENOID VALVE LUCIFER 240V 50Hz
35 1455034 CYLINDER HEAD SCREW M4x10
37 1349007 DRAIN CHROMIUM-PLATED FITTING
38 1160335 1 CUPFILTER 7 g
39 1250101 FILTER BLOCKING SPRING g 1,00 mm INOX
40 1165061 COFFEE MACHINE FILTER HOLDER
41 1022501 SINGLE SPOUT ¢ 3/8"
42 1160337 FILTER 2-CUP 14 g
43 1022502 DOUBLE SPOUT g 3/8"
100 1092004 SCALE REMOVER ISOMAC 500 ml




% ISOMAC

BREW GROUP
VENUS MAVERICK
12345678910 "“.‘-_-;-[ 37 38395 840 41 1242 13 43 16

1502

Positions without LF code no.: upon request




ISOMAC

LF code no. Description
1455034 CYLINDER HEAD SCREW M4x10
1443002 CONTACT THERMOSTAT 165°C M4
1443011 CONTACT THERMOSTAT 100°C M4
1349716 L-FITTING NICKEL PLATED ¢ 1/8"M-1/8"F
1349716 L-FITTING NICKEL PLATED @ 1/8"M-1/8"F
8 1443401 CONTACT THERMOSTAT 135°C M4

11 1449682 SILICONE HOSE @ 5x8 SHORE 60 - 10 m

12 5060593 VIBRATION PUMP SAFETY VALVE

13 5057111 PIN FOR TAP

14 1186295 SPRING RING RADIAL g 8 mm

15 1241210 TAP KNOB WATER/STEAM

21 1786312 O-RING GASKET 03293 SILICONE RED

22 1755340 HEATING ELEMENT 1200W 220V

22 1755638 HEATING ELEMENT 1200W 110V

25 1186722 FILTER HOLDER GASKET @ 73x57x8 mm

26 1786313 O-RING GASKET 03187 SILICONE

27 1086595 SHOWER HOLDER DIFFUSER

28 1081105 SHOWER SCREEN g 52 mm

30 1120004 3-WAY SOLENOID VALVE OLAB 230V 50Hz

32 1160335 1CUPFILTER 7 g

33 1160337 FILTER 2-CUP 14 g

34 1250101 FILTER BLOCKING SPRING g 1,00 mm INOX

35 1165061 COFFEE MACHINE FILTER HOLDER

36 1022502 DOUBLE SPOUT ¢ 3/8"

42 1186996 O-RING R3 EPDM

43 1241209 TAP KNOB STEAM

45 5052788 HEATING ELEMENT 900W 230V

46 1786312 O-RING GASKET 03293 SILICONE RED

48 1786314 SILICONE MUSHROOM GASKET

49 1250364 SPRING @ 7.2x21 mm

50 5058168 GASKET FILTER HOLDER @ 71x54x4.5 mm

51 1786315 FLAT GASKET EPDM g 51.3x43x5 mm

52 1086052 SHOWER HOLDER

53 1081022 SHOWER @ 51.5 mm

54 1510008 GROUP SPRINKLER g 14 mm M12x1

55 3528291 CROSS HEAD FLUSH SCREW M4x8

57 1245085 PRESSURE GAUGE PUMP @ 39 mm 0+16 bar

58 5040051 FILTER 1 CUP AISI 304

59 1460009 FILTER 2 CUPS

60 1250101 FILTER BLOCKING SPRING g 1,00 mm INOX

61 1165141 FILTERHOLDER COMPLETE 2 CUPS ISOMAC

62 1022524 DOUBLE SPOUT ¢ 3/8"




% ISOMAC

WATER/STEAM TAPS

MONDIALE

il i~
E
-
X =1
5 ;
= 5
a =)
12 S &)
_"_'\

#

MILLENNIUM-TEA-ZAFFIRO

1S10

Positions without LF code no.: upon request




ISOMAC

Position LF code no. Description
3 1549055 STEAM PIPE COMPLETE STAINL. STEEL ¢ 10 m
4 1241401 KNOB M8x1
5 1549056 WATER PIPE COMPLETE STAINLESS STEEL & 10
7 1548047 WATER/STEAM TAP KNOB
8 1241210 TAP KNOB WATER/STEAM




\K){ }/ 9
’

ISOMAC

BOILERS

MONDIALE-MILLENNIUM-TEA

ZAFFIRO

7617 18

1S20

Positions without LF code no.: upon request




ISOMAC

Position LF code no. Description

1 1430011 LEVEL PROBES g 1/8"M-81 mm
6 3186009 ASBESTOS FREE FLAT GASKET @ 45x33x2 mm
8 1320027 PRESSURE SWITCH XP110 125 1-2.5 BAR 1/4"
8 1320545 PRESSURE SWITCH XP110 125 0.5-1.2 BAR 1/

10 1720009 EXPANSION VALVE ¢ 1/4"M - 8 mm

12 1515023 BOILER VALVE g 1/4"M

15 1349706 L-FITTING @ 3/8"M-3/8"M NICKEL-PLATED




;g& ISOMAC

ELECTRICAL PARTS

MONDIALE MILLENNIUM

TEA ZAFFIRO
10
9
8
2
1
3
5
i
VENUS MAVERICK

1S30

Positions without LF code no.: upon request



) ISOMAC w35
GroUD,
Position LF code no. Description

1 1221060 RED INDICATOR LIGHT 250V

2 1319651 LEVER SWITCH 10A 250V

3 1240055 MICROSWITCH ROLD 12A 250V

6 1245086 PRESSURE GAUGE BOILER-PUMP g 60 mm

7 1054061 DOSER CONTROL BOX 1 GROUP 230V

8 1221077 GREEN INDICATOR LAMP 110/250V

9 1245002 BOILER PRESSURE GAUGE @ 41 mm 0+2.5 bar
10 1245001 PUMP PRESSURE GAUGE @ 41 mm 0+16 bar
11 5066397 LEVER SWITCH 1-POLE 10A 250V
12 1245087 PRESSURE GAUGE PUMP @ 41 mm 0+16 bar
13 1319652 LEVER SWITCH 15A 250V
14 1319653 LEVER SWITCH 15A 250V




Suitable for:

ISOMAC

Suitable for:

Boiler safety valves
1515023  BOILER VALVE ¢ 1/4"M
gt
| 1)
&5
ISOMAC 1S000577
Brushes

1384023 BRUSH FOR CLEANING 50 mm

»

1384001  BRUSH FORCOFFEE SHOWER

=

ISOMAC

1384002 BRUSH FORMAINTENANCE

ISOMAC

1384014  BRUSH FORSHOWER RED

=

ISOMAC

Caps
1439001 CAP ¢ 16 mm FOR BREW GROUP
4
ISOMAC ISTAP3136184 ISOMAC 3136184
Circlips

1186295 SPRING RING RADIALg 8 mm
in zinc plated iron alloy
external @ 16.3 - thickness T mm
UNI 7434 - DIN 6799

ISOMAC 15000339




Suitable for:

ISOMAC %

Suitable for:

Coffee filters

5040051 FILTER 1 CUP AISI304

ISOMAC 15000744 ISOMAC 2272010

1460009  FILTER 2 CUPS

ISOMAC 15000745

1160337 FILTER 2-CUP 14 ¢

——

ISOMAC 15000848

1160199 1 CUPFILTER

ISOMAC 000292

1160335 1CUPFILTER7 g

ISOMAC 15000707

1160200 2 CUPSFILTER

ISOMAC 000293

Coffee groups

1186313 CAM GUIDE BUSHING

for brew group

ISOMAC ISBUSPREGOM

1349022  CAMS CHROMIUM-PLATED FITTING

ISOMAC ISPOR3140784C

1192181 CHROME-PLATED DRAIN SLEEVE

-

ISOMAC ISCAN304CR

1191022  CHROMIUM-PLATED CAM

ISOMAC ISRC-561CR

1225002 CHROMIUM-PLATED CAP M6

ISOMAC ISCAL615CR

1439011 CHROMIUM-PLATED SIDE CAP

ISOMAC 1SW607




&

Suitable for:

ISOMAC

Suitable for:

1027116 CHROMIUM-PLATED UPPER SLEEVE

ISOMAC ISCAN3140694

1523452  COMPLETE DRAIN VALVE
triangular pin - total length 53 mm
for brew group

ISOMAC 1SASS395228

1523453 COMPLETE DRAIN VALVE

for brew group

ISOMAC ISVAL2PZTTR

1523451  COMPLETE SPOUT VALVE

round pin - length 53 mm
for brew group

«2®

ISOMAC 1SASS395227

1349007 DRAIN CHROMIUM-PLATED FITTING

ISOMAC 2956012

1349537  DRAIN CHROMIUM-PLATED FITTING
total height 26 mm

ISOMAC ISRAC2626CR

1349536 DRAIN JET SWIRL

for brew group

ISOMAC ISFRA156

1186592  SPRING GUIDE BUSHING

for brew group

ISOMAC 1SBUS313116

1439533 STUFFING GLAND CHROME-PLATED FITTING

for delivery group

ISOMAC ISTAPPRGOCR




ISOMAC
Suitable or: Suitable for:
Coffee measuring spoons
1069001 PLASTIC MEASURING SPOON 20 ml 1069002  STAINLESS STEEL MEASURING SPOON 20 ml
ISOMAC ISOMAC
Contact thermostats

1443011 CONTACT THERMOSTAT 100°C M4 1443401 CONTACT THERMOSTAT 135°CM4

for coffee group
ISOMAC 15000281 ISOMAC 1S000284
1443002 CONTACT THERMOSTAT 165°C M4

with manual reset
ISOMAC 1S000190

Detergents

1092004 SCALEREMOVERISOMAC500 ml
removes limescale residue from the water
systems and for domestic uses
coffee machines, it does not corrode and leaves no
please see the attached documentation for use

ISOMAC

Drain hoses

1449270 DRAINPIPEELISPIRg 12x18 mm -30m 1449670  DRAIN PIPEELISPIR ¢ 12x18 mm -5m
alimentary alimentary
=
e\ N A
\\ \

ISOMAC ISOMAC




Yz ISOMAC
Suitable for: Suitable for:
1449271 DRAINPIPEELISPIR ¢ 14x20 mm -30m 1449671  DRAIN PIPEELISPIR ¢ 14x20 mm -5 m
alimentary alimentary
<\ \\\\\ \\\\ \\\\\\‘\‘ ) a8 \\\\\\\\\\\\\\\\}\ )
\‘\\\\\'\\\‘\\\\\ SN \\\\\\\\\\
o o
ISOMAC ISOMAC
1449272 DRAIN PIPEELISPIR ¢ 16x23 mm -30m 1449672  DRAIN PIPEELISPIR 6 16x23 mm -5 m
alimentary alimentary
\ \\ \
\ N3
ISOMAC ISOMAC
1449273 DRAIN PIPEELISPIR ¢ 18x25mm -30 m 1449673  DRAIN PIPEELISPIR ¢ 18x25mm -5 m
alimentary alimentary
)
. \\\ ‘ NN \\\
\\\\\\\\ \\\‘\\.\\\\\\\\
\\\\\ a\\\\\\\\\\
‘\\\\ ‘ér,\»\\
ISOMAC ISOMAC
1449274 DRAIN PIPEELISPIR ¢ 20x27 mm -30m 1449674  DRAIN PIPEELISPIR 6 20x27 mm -5 m
alimentary alimentary
\ N \ \ A \t"'\v.) \ \\\\\\\\\\\\‘\
RN AL \\\\
\ e JORER
ISOMAC ISOMAC
1449255 OUTLETHOSEELISPIR ¢ 25x33 mm 1449256  OUTLET HOSE ELISPIR ¢ 30x38 mm
sold per meter sold per meter
W W
1\\ \\\\m ) ))m M) \\\\\W\w\\\ M) W)
ISOMAC ISOMAC




Suitable for:

ISOMAC %

Suitable for:

Electronic boxes

1054061 DOSER CONTROLBOX 1 GROUP 230V

ISOMAC 15000601 ISOMAC 438050

Filter holder gaskets

1186722 FILTERHOLDER GASKET ¢ 73x57x8 mm

ISOMAC 1351030

1186725  FILTERHOLDER GASKET ¢ 73x57x8.5 mm

with internal cuts

ISOMAC 1000411 ISOMAC 000411

5061480 GASKETFILTER HOLDER ¢ 68x48x5 mm
ORIGINAL

'®

ISOMAC 15000331

5058168  GASKETFILTER HOLDER ¢ 71x54x4.5 mm

ORIGINAL

ISOMAC 18000807

Filter holders for coffee machines

1165189 BOTTOMLESS FILTERHOLDER WEGA

wings 6.4 mm

ISOMAC

1165061  COFFEE MACHINE FILTER HOLDER

spout connection @ 3/8" - knob connection M12
wings 6,3 mm

ISOMAC 1S000740

1165141 FILTERHOLDER COMPLETE 2 CUPSISOMAC
spouts fittings @ 3/8" - knob fitting M12
blades 7.3 mm - with spring no filter

«a>»

b

-

ISOMAC 15000711

1165241  PORTAFILTRO CAPSULE LAVAZZA VARIMARCHI

alette 6,4 mm
per capsule singole lavazza blue

ISOMAC




.y ISOMAC

Suitable for: Suitable for:

1165222 PORTAFILTRO SENZA FONDO VARI MARCHI
alette 6,4 mm
adattabile per macchine BIANCHI
adattabile per macchine ELEKTRA
adattabile per macchine FIAMMA RST
adattabile per macchine FIORENZATO CS
adattabile per macchine ISOMAC
adattabile per macchine MCE
adattabile per macchine ORCHESTRALE
adattabile per macchine QUICK MILL
adattabile per macchine SCALA
adattabile per macchine WEGA

ISOMAC

Filter locking springs

1250101 FILTERBLOCKING SPRING ¢ 1,00 mm INOX 1250338  FILTERLOCKING SPRING ¢ 1.40 mm ST.STEEL

/

/

ISOMAC ISOMAC 311414 ISOMAC

1250002 S/STEELFILTER LOCKING SPRING ¢ 1.20 mm 1250333  SPRING FILTERBLOCK ¢ 1.30 mm ST.STEEL

07T \/ 17 ! \

ISOMAC ISOMAC

Filters

1160517 WATERFILTER ¢ 8.5x22mm

ISOMAC ISFIL8.522

Fittings

1349706 L-FITTING ¢ 3/8"M-3/8"M NICKEL-PLATED 1349716  L-FITTING NICKEL PLATED ¢ 1/8"M-1/8"F

ISOMAC 312501 ISOMAC 1000175



Suitable for:

ISOMAC

Suitable for:

Gaskets and seals

3186009 ASBESTOS FREE FLAT GASKET ¢ 45x33x2mm

ISOMAC 2612009

1186627  CARBO FLAT GASKET ¢ 41x33x3 mm

made of universal carbo
for heating element

ISOMAC

1186312 EPDM FLAT GASKET ¢ 15.5x7.5x4 mm

ISOMAC ISRONTM155754

1786315  FLAT GASKET EPDM ¢ 51.3x43x5 mm

for shower holder

ISOMAC 1S000839

1186314 PTFEFLAT GASKET ¢ 22x17x2 mm

™
Noas”

ISOMAC ISGUATF22172

1186117  PTFEFLAT GASKET ¢ 26x21x2 mm

ISOMAC ISGUATF26212

1186328 PTFEFLAT GASKET ¢ 35x30x2 mm

ISOMAC ISGUATF35302

1186993  PTFEFLAT GASKET ¢ 42x33x3 mm

for heating element

ISOMAC

1786314 SILICONE MUSHROOM GASKET

for coffee group - 8 6/7 mm - height 8 mm

ISOMAC 15000805



v ISOMAC

Suitable for: Suitable for:

Grinders

1251050 CONICAL GRINDING BURRS ROSSI(PAIR) RH
external  38/30 mm - internal  26/7 mm
thickness 17/20,3 mm

ISOMAC 15000437

Handles for filterholder-portafilter

1241502 FILTERHOLDERHANDLEM10 1241169  FILTERHOLDERHANDLE M12

\

ISOMAC ISOMAC

1241501 FILTERHOLDERHANDLE M12 1241504  FILTERHOLDERHANDLE M12

)

\
\

ISOMAC ISOMAC

1241269 FILTERHOLDERKNOB M10 1141006  FILTERHOLDERKNOB M10 SOFT

’; \
ISOMAC ISOMAC

1141007 FILTERHOLDERKNOB M124 SOFT 5051751  FILTERHOLDER KNOB WHITEM10

\

ISOMAC ISOMAC

1141004 HANDLEFORFILTER HOLDERM10 WALNUTWOOD 5083515 HANDLEFORFILTER HOLDER M10 WALNUTWOOD

e

\

ISOMAC ISOMAC




ISOMAC
Suitable or: Suitable for:
1141003 HANDLEFORFILTERHOLDER M12 WALNUTWOOD 5055983  HANDLEFORFILTERHOLDER M12 WALNUTWOOD
ISOMAC ISOMAC
5054505 KNOBF.FILTERHOLDER M12 RED POLISHED 1241505 KNOBFILTER HOLDER M10
ISOMAC ISOMAC
5054506 RED FILTERHOLDERKNOB M10 POLISHED 5051102 WHITEFILTERHOLDERKNOB M12

ISOMAC ISOMAC

Heating elements

1755638 HEATING ELEMENT 1200W 110V

immersed length 68 mm - 2 poles
¢ 55 mm - fittings @ 1/4"

1755006

ISOMAC 15000375

3060608 O-RING 03050 EPDM

ISOMAC

ISOMAC

NUT ¢ 1/4"

1755340 HEATING ELEMENT 1200W 220V

immersed length 68 mm - 2 poles
¢ 55 mm - fittings ¢ 1/4"

ISOMAC 15000505




/

N

)| ‘/‘P
v ISOMAC

Suitable for: Suitable for:

1755348 HEATING ELEMENT 1350W 220V 1186627  CARBO FLAT GASKET ¢ 41x33x3 mm
immersed length 130 mm - 2 poles made of universal carbo
fittingo 1" for heating element

:‘I‘
ISOMAC 15000743 ISOMAC

1186993 PTFEFLAT GASKET ¢ 42x33x3 mm

for heating element

ISOMAC

5052788 HEATING ELEMENT 900W 230V 3060608 O-RING 03050 EPDM

immersion depth 67 mm - 2 poles
¢ 53 mm -fittings ¢ 1/4"M

ISOMAC 18000378 ISOMAC
Hydraulic piping
1449682 SILICONE HOSE ¢ 5x8 SHORE60-10 m
alimentary
ISOMAC 650005
Indicator lights
1221077 GREENINDICATOR LAMP 110/250V 1221060  RED INDICATOR LIGHT 250V
o head 20 mm - ¢ hole 10 mm - 120°C o head 20 mm - ¢ hole 10 mm - 120°C

€« < nqaf

ISOMAC 15000585 ISOMAC 18000233 ISOMAC 18000584



Suitable for:

ISOMAC %

Suitable for:

Ironmongery (screws,nuts,washers)

3528291 CROSS HEAD FLUSH SCREW M4x8
cross-shaped - st./steel
UNI 7688 -DIN 965 - ISO 7046

ISOMAC 5033002

1455034  CYLINDERHEAD SCREW M4x10
stainless steel - with hexagon socket
UNI5931-DIN912-1S0 4762

ISOMAC ISVITTCEI4X10 ISOMAC 403203

1755006 NUT g 1/4"

ISOMAC

1184009  STAINLESS STEEL M8x25 mm STUD

ISOMAC ISPRIgX27

Knobs

1241401 KNOB M8x1

ISOMAC 2716003

1241209  TAPKNOB STEAM

hole for pin 6x6 mm

ISOMAC 18000216

1241210 TAP KNOB WATER/STEAM

hole for pin 6x6 mm

ISOMAC 15000174

Level sensors

1430011 LEVEL PROBES ¢ 1/8"M-81 mm

ISOMAC 15000527



c\f

\[ /o

"y ISOMAC

Suitable for: Suitable for:

Microswitches, mechanical

1240055 MICROSWITCHROLD 12A 250V

ISOMAC 15000770

Non-return and expansion valves

1720009 EXPANSION VALVE@ 1/4"M -8 mm

ISOMAC 15000263

Nozzles for coffee groups

1510008 GROUP SPRINKLER @ 14 mm M12x1
bolt hole M4

ISOMAC 15000838

O-Ring and ORM gaskets

1786313 0-RING GASKET 03187 SILICONE 1786312  O-RING GASKET 03293 SILICONE RED
for boiler

ISOMAC 1SOR-3187 ISOMAC ISOR74,3X2,62 ISOMAC 18000808

3060608 O-RING 03050 EPDM 1186996  O-RINGR3 EPDM

O

ISOMAC ISOMAC 18000336




Suitable for:

ISOMAC %

Suitable for:

1186591 0-RING 0128 VITON

ISOMAC ISOR128

1186874  0-RING 04118 RED SILICONE

internal @ 29.75 mm - thickness 3.53 mm

ISOMAC 18000536

Pins

1324048 CAM ROD FOR COFFEE GROUP

ISOMAC ISCAM824A1

1225004  MICRO CONTROL SPINDLE

for brew group

ISOMAC ISAST1057CR

5057111 PINFORTAP
length 75 mm

o

ISOMAC 15000202

Pressure gauges

1245002 BOILER PRESSURE GAUGE ¢ 41 mm 0+2.5 bar
single scale 0+-2.5 bar - connection ¢ 1/8"M
rim ¢ 50 mm - body 41 mm

ISOMAC 15000134

1245086  PRESSURE GAUGE BOILER-PUMP ¢ 60 mm
double scale 0+3/0-+15 bar - fittings ¢ 1/8"M
o frame 65 mm - ¢ body 60 mm

ISOMAC 1000661

1245085 PRESSURE GAUGEPUMP ¢ 39 mm 0+16 bar
single scale 0+-16 bar - fitting ¢ 1/8"M
¢ frame 44 mm - ¢ body 39 mm

ISOMAC 15000714

1245087 PRESSURE GAUGEPUMP ¢ 41mm 0+16 bar
single scale 0+16 bar - fitting @ 1/8"M
¢ frame 50 mm - ¢ body 41 mm

¢

ISOMAC 18000756




v

ISOMAC "5
GroUp,
Suitable for: Suitable for:
1245001 PUMP PRESSURE GAUGE ¢ 41 mm 0+16 bar
single scale 016 bar - connections ¢ 1/8"M
rim ¢ 50 mm - body 41 mm
ISOMAC 15000318
Pressure switches
1320545 PRESSURE SWITCH XP1101250.5-1.2 BAR 1/ 1320027  PRESSURE SWITCH XP110 125 1-2.5 BAR 1/4"
connection ¢ 1/4"M - 15A 125/250V preadjusted to 1.3 bar

preset at 1 bar fittings @ 1/4"M - 16A 250V

ISOMAC 451306 ISOMAC 15000109

Shower screens for brew group

1081516 SHOWER ¢60 mm 1081022 SHOWER@51.5mm

ISOMAC ISOMAC 18000806

1081105 SHOWER SCREEN ¢ 52 mm 1081016  SHOWER SCREEN ¢ 60 mm

ISOMAC 1SD001.8 ISOMAC

1081116 SHOWER SCREEN ¢ 60 mm 1081216  SHOWER SCREEN ¢ 60 mm

ISOMAC 15000412 ISOMAC



A
ISOMAC %

Suitable for: Suitable for:

Showerholder diffusers
1086052 SHOWER HOLDER 1086595 SHOWERHOLDER DIFFUSER
external 8 56 mm - height 13.5 mm - hole 12.5 mm external ¢ 58.5 mm - height 7.5 mm - hole 6.5 mm

ISOMAC 15000803 ISOMAC ISFLA6075

Solenoid valves

1120102 3-WAY SOLENOID VALVELUCIFER 115V 60Hz 1120330 3-WAY SOLENOID VALVE LUCIFER 240V 50Hz
E131F4304 - drain @ 1/8" conical - max 10 bar E131F4304 - drain @ 1/8" conical - max 10 bar
RUBY seal - orifice g 1.5 mm RUBY seal - orifice @ 2.5 mm
with coil 48351055 9W 110/115/120V 50/60Hz with coil 48351056 9W 220/240V 50/60Hz
fluid temperature -40°C+140°C fluid temperature -40°C+140°C

ISOMAC 451277 ISOMAC 451276

1120004 3-WAY SOLENOID VALVE OLAB 230V 50Hz
outletg 7 mm
coil 8000BH/J5IV 15VA 220/230V 50Hz

ISOMAC 15000200

Spouts for coffee

1022522 ADJUSTABLELONG DOUBLE SPOUT ¢ 3/8" 1022523  ADJUSTABLE SHORT DOUBLE SPOUT ¢ 3/8"

€

v

' :
ISOMAC ISOMAC
1022504 CLOSED SINGLE SPOUT ¢ 3/8" 1022502 DOUBLE SPOUT ¢ 3/8"

ISOMAC ISOMAC 455060




Suitable for:

ISOMAC

Suitable for:

1022524 DOUBLE SPOUT ¢ 3/8"

ISOMAC

1022521 LONG DOUBLE SPOUT ¢ 3/8"

ISOMAC

1022501 SINGLESPOUT ¢ 3/8"

ISOMAC 3110294

1022503  STRAIGHT SINGLE SPOUT ¢ 3/8"

-

S

ISOMAC

1022551 TRIPLESPOUT ¢ 3/8"

-

e

4l
i

ISOMAC

5031337  1-CUP STRAIGHT SHORT SPOUT ¢ 3/8"

et

ISOMAC

Springs

1250536 SPRING ¢ 13x42 mm

WV

ISOMAC ISMOLLA-A

1250515  SPRING ¢ 14x33 mm

ISOMAC ISMOL311420R1

1250516 SPRING ¢ 15x28 mm

ISOMAC ISMOLLA-E

1250364  SPRING ¢7.2x21 mm

AVAVAVAL

ISOMAC 18000804

Steam taps and spares for coffee mach.

1548047 WATER/STEAM TAP KNOB

ISOMAC 15000704




ISOMAC

Suitable or: Suitable for:
Steam-water pipes coffee machines
1549055 STEAM PIPE COMPLETE STAINL,STEEL 6 10 m 1549056  WATERPIPE COMPLETE STAINLESS STEEL ¢ 10
pipe lenght 240 mm pipe length 205 mm

ISOMAC 15000680 ISOMAC 15000703

Switches
5066397 LEVER SWITCH 1-POLE 10A 250V 1319651  LEVER SWITCH 10A 250V
ISOMAC 435008 ISOMAC 435074
1319652 LEVERSWITCH 15A 250V 1319653  LEVER SWITCH 15A 250V
ISOMAC 15000234 ISOMAC 13000235

Tools
1505002 EXTRACTORFORFILTER S.STEEL WITH HOLE 3394906 TELESCOPICKIT ¢ 30x165 mm
extension overall length 485 mm
ISOMAC ISOMAC
Vibrating pumps

1331023 SQUARE DAMPER EX-EP-EK-EA 2101958  VIBRATION PUMP EAX5 52W 120V 60Hz

connections ¢ 1/8" -8 6 mm
max pressure 15 bar

water temperature max 20°C
integrated diode (1N 4007P)
connection terminal 6.3x0.8 mm
NSF-approved

S|

ISOMAC 15000694 ISOMAC 451002




Cpf

\1{ “/‘P
4 ISOMAC

Suitable for: Suitable for:

5060593 VIBRATION PUMP SAFETY VALVE 1122601  VIBRATORY PUMP EX541W 120V 60Hz
fittings 0 1/8"- 9 6 mm
pressure max 15 bar
water temperature max 20°C
integrated diode (1N 4007P)
lead connector 6.3x0.8 mm
NSF-approved

ISOMAC 15000154 ISOMAC

1122735 VIBRATORY PUMP EX5 48W 230V 50Hz
fittings ¢ 1/8"- 9 6 mm
pressure max 15 bar
water temperature max 20°C
integrated diode (1N 4007P)
lead connector 6.3x0.8 mm

ISOMAC 451001
Water softeners and accessories
3010001 MANUAL WATER SOFTENERS8 L ¢ 3/8" 3010161 MANUAL WATER SOFTENERS8L ¢ 3/8"
for water treatment for TECHNICAL purposes for water treatment for TECHNICAL purposes
STAINLESS STEEL cylinder capacity 8 L plasma welding
connection 3/8" STAINLESS STEEL cylinder capacity 8 L
dimensions: height 400 mm - ¢ 185 mm connection 3/8"
resin content 5.8 L dimensions: height 400 mm - ¢ 185 mm
regeneration salt(NaCl-table salt)1 Kg resin content 5.8 L
regeneration salt(NaCl-table salt)1 Kg
inlet water maximum temperature 60°C
ISOMAC ISOMAC
3010112 RESINSL 3010300 SALTFORWATER SOFTNERIN TABLETS 25 Kg

5 litre bag FOR WATER SOFTENING SYSTEMS

ISOMAC ISOMAC






	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2

